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FCCAnalyses: FCC-ee Simulation (Delphes)

1020 __l T 1 | T T 1 | T T 1 | T T 1 | T T 1 | T 1 |__
(s =240 GeV, L=10.8 ab™ —
1018i e'e -~ ZH,Z - qq,H - T T, ]
10 — No additional selection B
104 [ -
~ —— Z(qq)H(tT) CWw £z - QQ ]
ol B ZZ [Je'e - 11 n
10 = Z(INH(t1) Hee - vV, Z B Z(t)H(t1) =
10 — —— Z(W)H(TT) B Z(tT)H(QQ) 3 Z(t1)H(99) ]
10 I Z(t)H(VV) B Z(W)H(QQ) =
ol [ 1Z(vwW)H(WV) E Z(INH(QQ) =
10° 1 Z(IH(g9) 1 Z(NH(VV) =
— o R Z ()@ [ Z(qa)H(gg)  —
10° [1Z(@@)H(\VV) —
— [ —
10% — —
= —
102 =
1074 =
10—6 I B I B R R RN B R R
-1.5 -1 -0.5 0 0.5 1 1.5

Reco photon charge



	Contents
	Page 1


